XYZ2,=115.18 , 100.0 , 26.59

2

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

%= 0,110, B_ = 3,700
Crg=[AF+B

6 Ostwaldcolours (o)
of maximum (m) C,
linear colour space Cyg . Y)

Hlumin. P25, Y,,~100 Y= ¥ .(4
Name Range X, 0

R, 582_775 8424 ader h2 oard osdls e B0 50

V) 506775 111069 2.58 05307 0.4569 583 478

G, 506_582 3192 55.36 255 03553 0.6162552 552

C, 3805682 35.66 59.42 26.56 0.2931 0.4884 502 608 Parameter:

B, 380506846 816 251 02028 0.1955478 583 Y & Name

M, 582_506 87.98 48.73 2513 05435 0.3011 552552 .
W,380_775 11518000 2659 0.4764 0.4136 100% lluminant P25
N,380_77546 40 106 04763 04135 4% Y,,~100 Y,=4

7, 380_7752073 180 478 0.4764 0.4136 18%
BEF10-8A




